
Lesson 6
GCSE Mathematics
Algebraic Fractions

6.1  Revision for The Test
Marks Available: 60

Question 1
GCSE Examination Question from November 2008, 3H,  Q2 (Edexcel)

    7p − 21( a ) Factorise

[ 1 mark ]

     4 ( x + 5 ) = 12( b ) Solve

You must show sufficient working.

[ 2 marks ]

Question 2
GCSE Examination Question from June 2011, 3H,  Q5 (Edexcel)

     
 5 
 6 

−
 3 
 4 

=
 1 
 12 

Show that

[ 2 marks ]



Question 3
GCSE Examination Question from November 2008, 3H,  Q8 (Edexcel)
( a ) Simplify

     p5 × p( i )

     
 q5 
 q3 

( ii )

[ 2 marks ]

  3( 4x − 1 ) − 4(2x − 3 )( b ) Expand and simplify    

[ 2 marks ]

    ( y + 3 ) ( y + 5 )( c ) Expand and simplify

[ 2 marks ]



Question 4
GCSE Examination Question from May 2012, 3H,  Q3 (Edexcel )
( a ) Write as a single power of 2,

23 × 26

[ 1 mark ]
( b ) Write as a single power of 3,

 39 
 34 

[ 1 mark ]

   
 5n 

 54 × 56 
=  53              ( c )

Find the value of n.

[ 2 marks ]

Question 5
GCSE Examination Question from November 2008, 3H,  Q14 (Edexcel)

      9ab − 12 b2( a ) Factorise completely

[ 2 marks ]

       ( 2a b2 )3( b ) Simplify

[ 2 marks ]



Question 6
GCSE Examination Question from May 2012, 3H,  Q17 (Edexcel)

     ( 3 a2 b )4( a ) Simplify

[ 2 marks ]

    ( 9 c8 )
 1 
 2 ( b ) Simplify

[ 2 marks ]

Question 7

      x2 − 8x + 12( a ) Factorise

[ 2 marks ]

     x2 − 81( b ) Factorise

[ 1 mark ]

Question 8
Simplify the following algebraic expressions by first factorising the quadratics:

x2 + 3x − 88
 x2 − 2x − 48 

[ 2 marks ]



Question 9

     
 x2 + 5x 
 x2 − 25 

Simplify fully

[ 3 marks ]

Question 10
Express as a single fraction

  
 2 ( 2x + 7 )  

5
+

 5( 4x +  1 )  
3

( i )

[ 3 marks ]

   
 2 ( 5x + 4 )  

3
−

 3 ( 3x − 2 )  
4

( ii )

[ 3 marks ]



Question 11
Simplify the following expression;

 7 
 ( x + 4 )  

+
 5 

( x + 3 )  

[ 3 marks ]

Question 12
Beginning "LHS = " show that;

 3 
 ( x + 6 )  

+
5 

( x − 10 )  
=

 8x 
( x + 6 ) ( x − 10 )  

[ 3 marks ]



Question 13

     
 x2 

 x2 − 5x 
( a ) Simplify,

[ 2 marks ]

     
 6 

 2x − 9 
−

 2 
 2x + 3 

( b ) Simplify

[ 4 marks ]

Question 14
Solve

 x − 3 
 2 

+
 x − 5 

 3 
= 6

[ 4 marks ]



Question 15
Solve the equation;

 x 
 2 

=
 2 ( x − 2 )  

 7 

[ 3 marks ]

Question 16
Find the two solutions to the equation;

 x 
 x + 3 

=
 10 

 x − 3 

[ 4 marks ]

This document is a part of a Mathematics Community Outreach Project initiated by Shrewsbury School
It may be freely duplicated and distributed, unaltered, for non-profit educational use

In October 2020, Shrewsbury School was voted “Independent School of the Year 2020”
© 2022 Number Wonder

Teachers may obtain detailed worked solutions to the exercises by email from mhh@shrewsbury.org.uk


